Write the correct answer in each of the following :
1. Point (-3, 5) lies in the

(A) first quadrant (B) second quadrant
(C) third quadrant (D) fourth quadrant
2. Signs of the abscissa and ordinate of a point in the second quadrant are respectively
(A) ++ (B) - - ) -+ (D) +.-
3. Point (0, =7) lies
(A) onthe x —axis (B) in the second quadrant
(C) onthe y-axis (D) in the fourth quadrant

4. Point (- 10, 0) lies
(A) on the negative direction of the x-axis

(B) on the negative direction of the y-axis

(C) inthe third quadrant
(D) in the fourth quadrant

5. Abscissa of all the points on the x-axis is
(A) O (B) 1
C) 2 (D) any number
6. Onrdinate of all points on the x-axis is
(A) O (B) 1
<€) -1 (D) any number
7. The point at which the two coordinate axes meet is called the
(A) abscissa (B) ordinate (C) ongin (D) quadrant
8. A point both of whose coordinates are negative will lie in
(A) I quadrant (B) I quadrant
(C) III quadrant (D) IV quadrant
9. Points(1,-1),(2,-2),(4,-5), (-3, —-4)
(A) liein Il quadrant (B) lie in Il quadrant
(C) lieinIV quadrant (D) donot lie in the same quadrant
10. If y coordinate of a point is zero, then this point always lies
(A) inlquadrant (B) in Il quadrant
(C) onx-axis (D) ony - axis
11. The points (-5, 2) and (2, - 5) lie in the
(A) same quadrant (B) IIand III quadrants, respectively

(C) IIand IV quadrants, respectively (D) IV and Il quadrants, respectively
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